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n(A)

n(S)| JIfAis any event, then P(not A) =1 — P(A)
P(A) + P(not A) = 1

Probability of an event P(A)=

C &

[f A and B are mutually exclustve, then P(A r B)=P(A)+P(B)

R N4

If A and B are any two events, then P(A or B) = P(A) + P(B) - P(A and B)
equivalently, P(AuU B) =P(A) + P(B) — P(A N B)




Three coins are tossed once. Find the probability of getting

(1) 3 heads (11) 2 heads (m) atleast 2 head
(1v) atmost 2 heads (v) mno head (vi) 3 tails
(vi1) exactly two tails (vii1) mno tail (1x) atmosttwo tails

S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} P(A)- Number of outcomes favourable to A n(A)

Total number of possible outcomes - n(S)

G

(1) Let B be the event of the occurrence of 3 heads. Accordingly, B = {HHH}
NV

n(B) 1
n(S) 8 »\
(i)  Let C be the event of the occurrence of 2 heads. Accordingly, C = {HHT, HTH, THH}

n(C) _3
n(S) 8

- P(B)=

- P(C)=

(1) Let D be the event of the occurrence of at least 2 heads.
B X . P(D)= n(D) _

D = {HHH, HHT, HTH, THH] n(S)
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iv) atmost 2 heads \

(iv)  Let E be the event of the occurrence of at most 2 heads. (v) no heads
Accordingly, E = {HHT, HTH, THH, HTT, THT, TTH, TTT}

P(E):@ _7 (V) Let F be the event of the occurrence of no head.

nS) 8 Accordingly, F = (TTT}

(vi) 3 tails -~ P(F)= ) é

(v1) [Let G be the event of the occurrence of 3 tails.
Accordingly, G= {TTT}

n(G) 1
n(S) 8

- P(G)=

(vi1))  Let H be the event of the occurrence of exactly 2 tails.
Accordingly, H= {HTT, THT, TTH}

- P 3

n(S) 8

(vii) no tail

(vii1) Let I be the event of the occurrence of no tail.
Accordingly, I = {HHH}

‘ _ n(1) =l
- P(I) (S) 8

(ix) atmost two tails.

(1x)  Let J be the event of the occurrence of at most 2 tails.
Accordingly, I = {HHH, HHT, HTH, THH, HTT, THT, TTH}

nl) 7

S PJ)= 2S) 8
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14. GivenP(A)= 3 and P(B) R Find P(A or B). if A and B are mutually exclusive

CVEIlts.

P(A U B)=P(A)+P(B) Since A and B are mutually exclusive events
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15. IfE and F are events such that P(E) = 1° P(F) = 5 and P(E and F) = e find

(1) P(E or F). (11) P(not E and not F).

P(E) = i P(F) = % p{_Eﬁl:.']=% | (ii) P(not E and not F) = P(ENEF]

P(E v F_’]:Pi'E'r+P{'F'] P(E n F)

=- svg =1—P|::E-~_,-F:I
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(E~Fl= :‘%
_, P(E F{;{QD

= 1-P(EnF)=025
W0 N

= P(E~F)=1-025=0.75=0

A

{Therefore, E and F are not mutually exclusive events.
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19. In an entrance test that Is graded on the basis of two examinations, the
probability of a randomly chosen student passing the first examination is 0.8 and
the probability of passing the second examination is 0.7. The probability of

passing at least one of them is 0.95. What is the probability of passing both?
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Ans. Let A be the event that the stude es the first examination
B be the event that the st asses the second examination.
P(A) =0.8 , \ P(A U B)=P(A)+P(B)-P(ANB)
(A) = P(A UB) =095
P(B) =0.7 | -

) . - 095=08+0.7-P(AnB)
probability of passing both>"P(AnB)

@@ = P(AnB) = 1.5-0.95 = 0.55



Fill in the blank mn the following table:

P(A)
0.35




R T

R

3L

) 2

$osis oge - Besdb oo bbo

A5l

e v
": M)

. N - : : i
. - il 4 ” .: i ' . .
: (W, ST ey
. ! e
e R e e i
~
) ! } )
(MR L
i TR
ouﬂn anpy earnl“ Ry NPT
: - : i " A A 1% o
‘' . e g :
.
'
"
Tl
Y ! "c'l‘. '
1 ’ i |
\ J : ) h :

L AT

(M w

| " 1 : .

e

! D e H b
. 3




